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ERROR DETECTION



4

Q1-20. In the following questions, read each part of the 

sentence to find out if there is any error in it. The error, if any, 

will be in one part of the sentence. The number of that part is 

the answer. If there is no error, mark your answer as (5).



11) The fence keeps them  (a) / at bay from vast stretches of 
land  (b) / preventing thousands of hundreds of them from (c) 
/ cultivating on the land that rightly belongs to them .(d) / no 
error (e)

12) The words of Charles Dickens  (a) / in somewhat reverse 
order seems appropriate : (b) / “ It was the worst of times , it 
was the best of times ,it was (c) / the winter of despair , it was 
the spring of hope “.(d) / no error (e)

13) The break with the past came in three important ways :(a) 
/ in dismantling the vast network of licenses , controls and 
permits that dominated the economic system ; in redesigning 
the  (b) / role of the state and allowing the inward looking 
foreign trade policy and getting integrate (c) / with the world 
economy and trade .(d) /no error (e) 
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14) It must be noted that Prime Minister , P.V, Narasimha Rao 
(a) / also hold the portfolio of industry which was directly 
responsible for (b) / initiating the changes that led to the 
dismantling of various  types of  (c) / controls and licenses 
related to the industrial sector  . (d) / no error (e)

15) The recent decline in  (a) / growth rate which started even 
before the (b) / advent of COVID 19 should make policy (c) / 
makers reflect and introspection. (d) / no error (e)
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16) In response ,we launched (a) / an economic programme , 
(b) / not just to restore the balance of payments (c) / but 
reform ,restructure and modernize the economy .(d) / no 
error (e)

17) Thus ,the crisis was converted (a) / into a opportunity to 
bring up (b) / fundamental changes in the approach (c) / and 
conduct of economic policy .(d) / no error (e)

18) The last was specially important (a) / because it was the 
opposite (b) / of what we normally did when (c) /we were 
faced with a balance of payments crisis .(d) / no error (e)

19) The best performance was (a) / between 2005-06 and 
2010-11 (b) /when the GDP grew by 8 % showing (c) / clearly 
what was the potential growth rate of India .(d) / no error (e)
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20) The opening up of the (a) / external sector , which 
included liberal trade policy ,market determined (b) / 
exchange rate and a  liberal flow of external (c) /resources 
have greatly strengthened the external sector .(d) / no error 
(e)

21) As a result , about 255 million (a) / schoolchildren have 
been taught exclusively (b) / though “remote learning” which 
is the (c) / largest number in any country for the longest 
period of time .(d) / no error (e) 

22) Evidence was mounting of the harm (a) / caused to 
children and young adolescents - learning losses (b) / as well 
socioemotional stress –by prolonged school closures (c) / and 
of the ineffectiveness and inequalities of remote learning , 
even in sophisticated environments .(d) / no error (e) 
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